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y degrees

man
1. How vangle? T

in a straigh
2. What is the perimeter of a hexagon
" with 4cm sides?

3.9+ 3=
fraction.

4, Write 3% as an improper 1@

5. 250, 500, 750,

6. 7220x =52

1,000, S
20. What is x? e

7. Draw the
net of a cube.

g. 73x 10= g
q. Round 257873 to 3 decimal places. b

Nz

10. What is the chance of rolling
n even number on d die?

n

a

11. Find the average of 3,8, 12 and 5%

12. Write 13% as a decimal fraction.

13. Can a circle tesselate? D yes Dno

14. If 2 angles in a triangle add up to PeE,
what is the value of the
third angle?

«—7cm —
«3c {
| 1

9cm

15. Find the perimeter
of this shape.

2cm

16. A farmer sold 0-7 of his sheep and had
36 sheep left. How many sheep had
he first?

17. A bus took 4 hours to complete a journey.
If the bus was travelling at an average
speed of 56km an hour, how long was
the journey?

18. 11,000 people a day attended the races for
5 days in a row. That was a 10% increase
on last year’s attendance. What was the
total attendance last year?

fues

. How many steps
between '8 and ~8?

2 8:623
— 5126

3. Write one million two hundred thg,,
Sq |
as a numeral. sand

4. Wt11ich is lgrger, a 12 of 44 or
a3 of 427
5. 4x = 64. What is x?

6. Circle the smallest.
a7 1177

7. If 6 eggs cost €2:10,
how much for 1 egg?

8. 5% of 50 + 50% of 5 =
q. What is the square root of 81?

10. If two angles in a triangle add up to 90°
what is the value of the other angle? ,

11. Draw the net
of a cuboid.

12. 350g + __
13. (600 + 20) X 10 = _

kg =2kg

14. Name the shape.

15. Divide 100 in the ratio of 3:2:5.

A farmer sells each litre of r
for 30c. The dairy gets 80 f

| the supermarket. The supe
| a litre from the customer.

16. What is the difference between the price
the farmer gets and the price the
supermarket gatsl

17. If a supermarket bought 700 litres of mil
from a dairy, how much did they pay
for it?

18. If the farmer gets a 20% increase on

a litre of milk, how much money woul

he get for jORlithes?

/

_44
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2. Halve 12:4. B

as a decimal fraction.

3. Write 2'36

B0 10 — x & 100.
What is X?

5. Round 2674 to 1 decimal place.

6. Write 170m? as ares.
7. G of 24+ dofom =

8. How many degrees in % of a circle?
q. 10% of 270 =

10. What is the average of
il 121 AL
45, 6-,;, 38 and 68?

11. Treble 21:3 and add 5.

12. What is the LCM of %, % and 1-:3?

13. 3 angles in a parallelogram add up
to 270°. What is the value of the 4th

angle? ? j '

14 27 is % of what number?

15. 32,142

179 passengers in
in second class.

7 months,
will she pay?

price of a cow from
t percentage reduction

. EI of a class wear glasses
g v
many are in the clq

18 do not

Ss?

382 01248 =
4. Halve 0-052.
5. Write 1,200 ares as hectares,
6. What do we call an angle of 7097
e R
1
7. (g of 27) + (2 of 14) =
8. 5+'8=

9. Tick the larger.
75% of 80[ | 40% of 140/ |

10. Double 235 and add 11.

11. What is the area of a classroom

7m by 4m?

12. A car costs €5,000.
How much for 7 cars?

13. (30% + 20%) — 17% =
14. 11272 =

15. 6y -9 —>5x9.
What is y?

Cathal had two jobs during the summer.
He started work in a café at 8am and finished
at Tpm. He worked in a restaurant from
4pm to 10.30pm. He earned €9 an hour
in both jobs.

16. How many hours did Cathal work per we
in the café if he worked 5 days a week?

17. How many hours in total did
he work every day?

18. How much did Cathal earn in total
in a five-day week?
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Week 26 Test

4 31'(3);3 10, Double 82 and add 10
ot )
1. What s the area of o room
12m x 5m?

2. Which of the following

(4
is a tetrahedron?

A farm was sold for €90,000
After 10% s deducted,

, 3 s how much money s left?
@ a |

5 | i 13, 0415 4+ 0:65 =

' ! 14. This ple chart shows

! | | the colours of 80 balls

! ina box. How many
3 %of 8,199 = balls are blue?
. ) —

4. How many years from i 15,32 _22m

301BC to 56AD?

i 16, 7x -2 — 16 + 3,
5. What is the value of 5 What is x?

il 17. Simplify ;g
2 :4°§" T“’}%ﬁiﬁ:ﬁ? | 18. Reduce €260 by 25%.
n5 ota ;
3

19. How many degrees
e in 2 triangles? AA
8. 3+ 4=

20. 06 x03=
9. Tick || the larger amount. ¥
015 0f 200 | 0414 of 350 |

R Lo A e T

Problems

nes carry 540 passengers. 2
any passengers would 2 planes carrys

po of the island of Ireland in 2012 was
uw:l?:pprox.). This consisted of 4-58 mllluin |(r; the
Ireland and 1:8 million in Northern I;e and.
the difference between the population o

lic of Ireland and Northern Ireland?

k da
bigg a hall with a length of 7m an
%H;é.n‘)(.gr (b) a room with an area of 20m?2?

1
ed a journey of 165km in 27 ho:l?rs,
‘mg- speed in kilometres per hou





